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6-1 Roots of Real Numbers (continued)

Simplify each expression that has a real root. If the expression does not

represent a real number, say so.

.'-' - rl—
1. a. V25 Bt om el e N G s S
2. a2, vIOO WO b, /= 100 5 e. —ioo — 1O d. 4 —100 ot ved E
b b I (b U S c. V=081 W*’Md.ﬁo.oom e
AN b, /— 8 o Y-8 Y d. 3 (=8° — §
- TR 6 2 4171 b 416 2/,
e e B e CiRE T d e /3:1_
Gitai G2 b, J6F T O 3l o e o e i
= — _,.L- - —_— sl ; =T
Thy e e "{': b. ~/6—10 G e B—2 ¥ g §g=-25 %Y e {.C
e O e a2 e daZ O a. ¥a? |od
9. a, \J—a* ‘Nﬂ’ b= a)f &7' e. J(=aP — o~ d. /a8 lﬂvl
Exampfe 3  Find the real roots of each equation. If there are none, say so.
a. 22 = 16 b 25 0k e d 2 =0
Solution a. x2 = 16 ol o5 S RO el 2=
x = +16 = =4 a2 = =05 2 =3
The roots are 4 and —4.  There are no real roots. x = £V3
The roots are /3 and — +/3.

Find the real riots f each equation. If there are none, say so.

10, x2 =
14. 16x2 =

121

]
o35 15 362 =

o i §
zJu
2+ 16 =0 13.x2—11=03 3
; St

-9 = —25x2Z'-‘-"g'}17. 25x2 — 100 = 0 3

10052 = 21. 16x2 + 8 = 9 {i:-"}

s = A

—49 AL 16.

i e A 0@19 0-1+41-y\.w&20._5—
{-&-J— :

Mixed Review Exercises

Solve. If an equation has no solution, say so.

it

Sa T e ) ol e P bl ST
. = . =5y = 3 — —2
e g = 6
% e = L =i A,
A e 5. 42 =356 6"“23‘—)"51
7. 5Qx —3) = 6x + 5 e e T g
: al xRl e 2
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i 3
| f ey DR o . 3 3] ) 140
ERGIHIHIT 2 ﬁﬂ*ﬁphfy: a. 16 - 3/12 b. =
2 V60
o S P S G s B
Solutio Use the strategies shown in Example 1, but lock for perfect cubes

a. Y16 - Y12 = I@- DA - 3) =4 - B = 43

L e e R 7. E s
s o lien g inlim e 27y 3

Si[ﬂpﬁfy. : A i gr . ':, ;
o ! AW 2
: Z{M 23—6 25 e 8 ——=— s NI VL
1@ ( alic o 11.”'_4'\% 2 e
. o 3 .
6. v70 - vaiN3°7. yT35 . yI = 8. VAT - =2 9 500 SV 103 E 302
27 7 e
i 3
11. lgf T (532 = 13.¥15-¥18 . 14, ——‘é/]ig 30 1s. 4B 3
15 e
Example 3  Simplify. Assume that each radical represents a real number.
3] 2q3
L AVl , b s
Solution G e = N9zE " Factor the radicand i e factors,
= /928 - \2x one of which is a perfect square.
i ' . Then, simplify by applying the
= 3h2x product property of radicals.
3 3 3843
; SLS = 8a5 =l 24 : Notice that the numerator is a
0 N/ 256 ~/25b perfect cube and simplify it.
; : S s </ 5b i - :
= e Rationalize the denominator by
25;3 5 multiplying the numerator and
_ 2av5b , denominator by J30, making the
J 12568 radicand in the denominator a
22358 perfect cube. -
o Mg W G

Simplify. Assume that each radical represents a real number.
: 3
16. /4822 17. \/54x7 18. 312845 19. /fg 20, 125; 5 @
d 16y s
il o 3 2 7 3
WKz 3dox e e o 1y?
; | 1

3 L= 2
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